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IÊS>… H$ : An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ)   15 A‘>m… 

SECTION A : Unseen Reading Comprehension 

IÊS>… I : aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©)  15 A‘>m… 

SECTION B : Writing Skills 

IÊS>… J : AZwà`wº$ì`mH$aU_² (AZwà`wº$ ì`mH$aU) 30 A‘>m…   

SECTION C : Applied Grammar 

IÊS>… K : n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ)  30 A‘>m… 

SECTION D : Reading Comprehension 

 

{ZX}em… : 
Instructions : 

(i) Apñ_Z² àíZnÌo MËdma… IÊS>m… gpÝV & 
 Bg àíZ-nÌ _| Mma IÊS> h¢ & 
 The question paper has four sections. 

(ii) àË`oH§$ IÊS>_² A{YH¥$Ë` CÎmam{U EH$pñ_Z² ñWmZo H«$_oU boIZr`m{Z & 
 àË`oH$ IÊS> Ho$ CÎma EH$ hr OJh na H«$_ go {bIZo hm|Jo & 
 The answers to each section must be written at one place. 

(iii) àíZg§»`m àíZnÌmZwgma_² Adí`_od boIZr`m & 
 àíZ-nÌ Ho$ AZwgma àíZ-g§»`m Adí` hr {bIZr hmoJr & 
 Write the question number according to the question paper. 

(iv) gd}fm§ àíZmZm_² CÎmam{U g§ñH¥$VoZ boIZr`m{Z & 
 g^r àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 
 Answer all the questions in Sanskrit. 
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IÊS…> H$ (SECTION A) 

An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ) 

 Unseen Reading Comprehension             15 A‘>m… 

1. AYmo{b{IV_² AZwÀN>oX§ n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZ CÎmaV : 

 {ZåZ{b{IV AZwÀN>oX H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE : 

 Read the following passage and answer the given questions in Sanskrit : 

            EH$Xm ~mb… {gÕmW©… àmV… ^«_Um` CndZ_² AJÀN>V² & CndZo n{jU… _Ywa§ 

Hy$OpÝV ñ_ & Vofm§ H$bad§ lwËdm {gÕmW©… àgÞ… A^dV² & {H$pÄMV² H$mbmZÝVa§ Vñ` ^«mVm 

XodXÎm… A{n AmIoQ>Zm` VÌ AmJÀN>V² & g… ~mUoZ AmH$meo EH§$ h§g_² A{dÜ`V² & ~mUoZ 

{dÕ… h§g… ^y_m¡ AnVV² & {gÕmW©… H$éU`m V§ h§g§ Hw$Q>ra_² AmZr` h§gñ` n[aM`m©_² 

AH$amoV² & {gÕmW©ñ` XodXÎmñ` M _Ü`o {ddmX… ^d{V `V² ‘h§g… H$ñ`’ ? AÝVo Z¥n… {ZU©`_² 

AH$amoV² `V² h§g… {gÕmW©ñ` Ed & gË`_od H$Ï`Vo – ‘‘ajH$… ^jH$mV² loð>…’’ B{V & 

 àíZm… 

 I. EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 

  Answer in one word. 1 2=2 

(i) ‘h§g… H$ñ`’ ? B{V {ZU©`§ H$… AH$amoV² ?  

(ii) CndZo Ho$ _Ywa§ Hy$OpÝV ñ_ ? 

II.  nyU©dmŠ`oZ CÎmaV & 

  nyU© dmŠ` _| CÎma Xr{OE & 

 Answer in a complete sentence. 2 2=4 

(i) {gÕmW©… ^«_Um` CndZ§ H$Xm AJÀN>V² ?  

(ii) h§g… Hw$Ì AnVV² ? 
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III. àXÎm{dH$ënoä`… C{MV_² CÎma§ {MËdm {bIV : 

{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE : 

 Choose and write the appropriate answer from the given  

options : 
2

1
 4=2  

(H$) JÚm§eo ‘AH$amoV²’ {H«$`mnXñ` H$V©¥nX_² {H$_² ApñV ? 
(i) h§g… 

(ii) {gÕmW©… 

(iii) XodXÎm… 

(iv) ^jH$… & 

(I) ‘{H$pÄMV² H$mbmZÝVa§ Vñ` ^«mVm ............’ B{V dmŠ`o ‘Vñ`’ gd©Zm_nX§ 
H$ñ_¡ à`wº$_² ? 
(i) Z¥nm` 

(ii) Hw$Q>ram` 

(iii) h§gm` 

(iv) {gÕmWm©` & 

(J) JÚm§eo ‘Z¥n…’ B{V H$V©¥nXñ` qH$ {H«$`mnX§ à`wº$_² ? 
(i) AH$amoV²  

(ii) A{dÜ`V²  

(iii) A^dV²  

(iv) AJÀN>V² & 

(K) AZwÀN>oXo ‘godm_²’ B{V AW} qH$ nX§ à`wº$_² ? 
(i) n[aM`m©_²  

(ii) {ZU©`_²  

(iii) gË`_²  

(iv) _Ywa_² & 

IV. Añ` AZwÀN>oXñ` H¥$Vo g_w{MV§ erf©H§$ g§ñH¥$VoZ {bIV & 

 Bg AZwÀN>oX Ho$ {bE Cn ẁº$ erf©H$ g§ñH¥$V _| {b{IE & 
 Write the appropriate title for this passage in Sanskrit. 2 
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2. AYmo{b{IV§ íbmoH§$ n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZ CÎmaV : 
 {ZåZ{b{IV íbmoH$ H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE : 

 Read the following shloka and answer the given questions in Sanskrit : 

 ‘Z_pÝV \${bZmo d¥jm…, Z_pÝV Jw{UZmo OZm… & 

 ewîH$d¥jmíM _yIm©íM, Z Z_pÝV H$XmMZ &&’ 

  àíZm… 

 I. EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 1 1=1 

H$sÑem… OZm… Z_pÝV ? 

 II. nyU©dmŠ`oZ CÎmaV & 

  nyU© dmŠ` _| CÎma Xr{OE & 

  Answer in a complete sentence. 1 2=2 

(i) H$sÑem… d¥jm… Z_pÝV ? 

(ii) ewîH$d¥jm… H$Xm Z Z_pÝV ? 

 III. àXÎm{dH$ënoä`… C{MV_² CÎma§ {MËdm {bIV : 
  {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE : 

  Choose and write the appropriate answer from the given 

options : 1 2=2 

(H$) íbmoHo$ ‘~w{ÕhrZm…’ BË`ñ` qH$ n`m©`nX§ à`wº$_² ?  

(i) OZm… 

(ii)  H$XmMZ 

(iii) _yIm©… 
(iv)  ewîH$m… & 

(I) íbmoHo$ ‘Jw{UZ…’ B{V {deofUnXñ` qH$ {deoî`nX§ à`wº$_² ? 

(i) \${bZ… 
(ii)  d¥jm… 

(iii) ewîH$m… 

(iv)  OZm… & 
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IÊS…> I (SECTION B) 

aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©) 

 Writing Skills 15 A‘>m… 

3. ‘{_Ì§’ à{V{b{IV_² AY… nÌ§ _ÄOyfmnXghm`V`m nya{`Ëdm nwZ… {bIV : 

 ‘{_Ì’ H$mo {bIo JE {ZåZ{b{IV nÌ H$mo _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nyU© H$a 
nwZ… {b{IE :  

 Complete the following letter written to your friend, with the help of the 

words given in the box and rewrite the same : 
2

1
 10=5 

 

   (i) ________________ 
(ii) _________________ Jm¡ad ! 

  gñZoh§ (iii) ___________ & 

  JV_mgo Ah§ (iv) ______________ _mÌm M gh ^«_UmWª _oKmb`àXoe_² 

AJÀN>_² & (v) ________________ gm¡ÝX`©_² AX²^wV_² & (vi) ___________ 

gwÝXa§ nd©Vr`ñWb_² & (vii) ___________ d¥j¡… nd©V¡… M gwg{‚mVm B §̀ dñVwV… 

Xod^y{_… Ed ApñV & B_§ gwaå`§ àXoe§ ÑîQ²>dm (viii) ____________ `V² nd©Vm… 

gX¡d aå`m… Ed & Ah§ Ëd`m gh A{n EH$dma§ (ix) ___________ VÌ JÝVw_² 

BÀN>m{_ & Amemgo Amdm§ erK«_od VÌ nd©VmZm§ _Ü`o ^{dî`md… & 

 gd}ä`… __ Z_ñH$mam… H$WZr`m… & erK«§ {_bmd… & 

   (x) ___________ {_Ì_², 

   A‘x>a… & 

_ÄOyfm 

 

^dV…, BX§, Ho$abV…, {demb¡…, Z_ñH$mam…, nwZ…, AZw^y`Vo, _oKmb`àXoeñ`, {nÌm, 
{à`{_Ì & 
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4. AY… àXÎm§ {MÌ§ ÑîQ²>dm _ÄOyfm`m§ àXÎmeãXmZm§ ghm`V`m nÄMdmŠ`m{Z g§ñH¥$VoZ {bIV : 

 ZrMo {XE JE {MÌ H$m dU©Z _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nm±M g§ñH¥$V dmŠ`m| _| 
H$s{OE :  

 Describe the following picture in five Sanskrit sentences with the help of 

the words given in the box below : 2 5=10  

 

 

 
 

_ÄOyfm 
 

 
 
 

AWdm  (OR) 

CndZ_², ~m{bH$m…, d¥jm…, nmXnm…, àgÝZm…, nÄM, ApñV, gpÝV, H«$sS>pÝV, H$ÝXþHo$Z, 
emo^ÝVo, nd©Vm…, n{jU…, AmH$meo, ní`pÝV, ^«_pÝV, n[adoe…, gwÝXa… & 
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 _ÄOyfmàXÎmeãXmZm§ gmhmæ òZ {ZåZ{b{IV§ {df`_² A{YH¥$Ë` nÄMg§ñH¥$VdmŠ`ofw EH$_² 
AZwÀN>oX§ {bIV :  

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go {ZåZ{b{IV {df` na nm±M g§ñH¥$V dmŠ`m| _| EH$ 
AZwÀN>oX {b{IE : 

 Write a paragraph in five Sanskrit sentences on the following topic with 

the help of the words given in the box : 2 5=10  

 ‘‘àmV…H$mbrZ^«_U_²’’ & 
_ÄOyfm 

 

 
IÊS…> J (SECTION C) 

AZwà`wº$ì`mH$aU_² (AZwà`wº$ ì`mH$aU) 
 Applied Grammar 30 A‘>m… 

5. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXofw gpÝY¨ gpÝYÀN>oX§ dm H¥$Ëdm {bIV :  
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| _| gpÝY AWdm gpÝY-{dÀN>oX H$aHo$ {b{IE :  

 Write the underlined words of the following sentences after joining or 

disjoining Sandhis : 1 4=4  

(i) __ {dÚmb`ñ` ^mo + AZ§ Ñï²>dm gd} àgÞm… ^dpÝV & 

(ii) àË`oH§$ _Zwî`… gw`mo½`… ApñV & 

(iii) gV² + OZ… gX¡d AZwH$aUr`… & 

(iv) ewîH$d¥jmíM _yIm©íM Z Z_pÝV H$XmMZ & 

6. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ g_mg§ {dJ«h§ dm àXÎm{dH$ënoä`… {MËdm {bIV :  
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| H$m g_mg AWdm {dJ«h {XE JE {dH$ënm| _| go MwZH$a 

{b{IE :  

 Choose and write the correct compounded or expounded forms of the 

underlined words in the following sentences : 1 5=5  

(H$) Z Jdm} Z X¡Ý`§ Z M H«$moYbmo^m¡ & 
(i) H«$moYñ` bmo^ñ` M 

(ii)  H«$moY… M bmo^… M 

(iii) H«$moYm¡ M bmo^m¡ M 

(iv)  H«$moYm` bmo^… & 

gy`m}X`…, _mJ}fw, CndZofw, OZm…, ~mbm…, n{jU…, ned…, àgÞm…, ^«_pÝV, Hy$OpÝV, 
H«$sS>pÝV, {dÚmb §̀, gpÝV, JÀN>pÝV, `Ì-VÌ, gd©Ì, {dhapÝV, H$mb…, _Zmoha…, ApñV & 
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(I) {gÕ… AW©… `ñ` g… {dhmam` dZ_² AJÀN>V² & 

(i) {gÕmW©ñ` 

(ii)  {gÕmW©… 

(iii) {gÕmWm£  

(iv)  {gÕmWm©… & 

(J) Vpñ_Z² CÚmZo ~hþ\$b… d¥j… ApñV & 

(i) ~hÿ{Z \$bm{Z `pñ_Z² g… 

(ii)  ~hÿ{Z M \$bm{Z M 

(iii) ~hÿ{Z \$bm{Z 

(iv)  ~hÿ{Z \$bm{Z `ofw Vo & 

(K) `o n[al_§ Hw$d©pÝV Vo {Z{d©¿Z§ OrdpÝV & 

(i) {d¿Z¡… g{hV_²  

(ii)  {d¿ZmZm§ níMmV²  

(iii) {d¿ZmZm_² A^md… 

(iv)  {d¿Z_² AZ{VH«$å` & 

(L>) {eed… g{MÌ§ nwñVH§$ Ðïw>_² BÀN>pÝV & 

(i) {MÌ§ M g{MÌ§ M 

(ii)  {MÌñ` A^md… 

(iii) {MÌñ` g_rno 

(iv)  {MÌoU g{hV_² & 
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7. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ àH¥${V-àË``m¡ g§`moÁ` {d^Á` dm C{MV_² CÎma§ 

{dH$ënoä`… {MËdm {bIV :  

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| Ho$ àH¥${V-àË``m| H$mo Omo‹S>H$a `m n¥WH²$ H$aHo$ C{MV 

CÎma {dH$ënm| _| go MwZH$a {b{IE :  

 Write the underlined words of the following sentences after joining or 

disjoining suffixes to the roots or words, selecting the correct answer from 

the options given below : 1 5=5  

(H$) Mb² + eV¥ ~mbH$… gd©Ì ní`{V & 

(i) MbZ²  

(ii)  MbÝV_²  

(iii) MbV… & 

(I) _wX² + emZM² ~m{bH$m`¡ nm[aVmo{fH§$ `ÀN> & 

(i) _moX_mZm 

(ii)  _moX_mZm`¡ 

(iii) _moX_mZm`m… & 

(J) CndZñ` a_Ur`Vm _Zmoham ApñV & 

(i) a_Ur` + Ëd 

(ii)  a_Ur` + Vb²   

(iii) a_Ur` + Q>mn² & 

(K) gË`^mfUñ` _hV² + Ëd H$… Z OmZm{V ?  

(i) _hËd 

(ii)  _hVm_²  

(iii) _hÎd_² & 

(L>) àmV…H$mbñ` _Zmohm[aZ² + L>rn² emo^m H$ñ_¡ Z amoMVo ? 

(i) _Zmohmar 

(ii)  _Zmohm[a 

(iii) _Zmohm[aUr & 
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8. AYmo{b{IVdmŠ`ofw [aº$ñWmZm{Z _ÄOyfm`m§ àXÎm¡… C{MV¡… Aì``nX¡… nya{`Ëdm {bIV :  

 {ZåZ{b{IV dmŠ`m| _| [aº$ñWmZm| H$s ny{V© _ÄOyfm _| {XE JE C{MV Aì`` nXm| Ho$ Ûmam$  

H$s{OE : 

 Fill in the blanks in the following sentences with appropriate 

indeclinable words given in the box : 1 5=5  

(i) g… ___________ JÝVw_² BÀN>{V ? 

(ii) AÌ ___________  {bI & 

(iii) Vm… ___________ H«$sS>m§ ÐîQw>_² AJÀN>Z² & 

(iv) gd} ___________ EH§$ boI§ bo{Iî`pÝV & 

(v) gm H$W`{V ___________ Ah§ JÝVw§ Z BÀN>m{_ & 

_ÄOyfm 

               

9. C{MVgL²>»`mnX§ {MËdm dmŠ`m{Z nya`V &  

 C{MV g§»`m nX MwZH$a dmŠ` nyU© H$s{OE &  

 Choose the correct numerical words and complete the sentences. 1 5=5  

(i) d¥jo ___________ _Ywa§ \$b_² ApñV & (EH$…, EH$m, EH$_²)  

(ii) nwñVHo$ ___________ {MÌm{U gpÝV & (MËdm[a, MVw{^©…, MËdma…) 

(iii) ___________ ~m{bH$m`m… {nVm AmJÀN>{V & (EH$ñ`, EH$ñ`m…, EH$pñ_Z²) 

(iv) ___________ H$mo{H$bo à{V{XZ§ Hy$OV… & (Ûm¡, Û`mo…, Ûo) 

(v) ___________  Jm`H$m… Jm`pÝV & (Ì`…, {Vò…, Ìr{U) 

íd…,  `V²,  h²`…,  _m,  H$Xm & 
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10. AYmo{b{IVdmŠ`ofw aoIm{‘>VnX_² AewÕ_² ApñV & àXÎm{dH$ënoä`… C{MV_² CÎma§ {MËdm 
AewÕnX§ g§emoÜ` {bIV :  

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nX AewÕ h¡ & {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a 
AewÕ nX H$mo g§emo{YV H$a {b{IE :  

 Choose the correct answer from the given options and correct the 

underlined incorrect word in the following sentences : 1 6=6  

(H$) Vo ~m{bH$m… Hw$Ì J{_î`pÝV ? 
(i) ~m{bHo$ 
(ii)  ~mbo 
(iii) ~mbH$m… 
(iv)  ~mbH$m¡ & 

(I) `y`§ ì`Wª Z dXmd… & 
(i) dXW 
(ii)  dXW… 
(iii) dXpÝV 
(iv)  dXm_… & 

(J) qH$ Ëd§ íd… JÀN>{g ?  
(i) J{_î`{V 
(ii)  AJÀN>… 
(iii) J{_î`{g 
(iv)  JÀN> & 

(K) Ûo N>mÌo AÌ nR>pÝV & 
(i) nR>{V 
(ii)  nR>V… 
(iii) nR>W… 
(iv)  nR>W & 

(L>) Ah§ h²`… JÀN>m{_ & 
(i) AJÀN>_²  
(ii)  J{_î`m{_ 
(iii) JÀN>m{Z 
(iv)  JÀN>o`_² & 
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(M) Amdm_² Añ_mH§$ {_Ì¡… gh J{_î`V… & 

(i) `wdm_²  

(ii)  `y`_²  

(iii) Ëd_²  

(iv)  Vm¡ & 

 
IÊS…> K (SECTION D) 

n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ) 

 Reading Comprehension 30 A‘>m… 

11. AYmo{b{IV_² JÚm§e§ n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZ CÎmaV : 

 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE : 

 Read the following prose passage and answer the given questions in 

Sanskrit :  

  JÚm§e… 

              ‘‘AZoZ dMgm à{VhVmÝV…H$aU… àÀN>Þ^m½`… A{MÝV`V² – ‘{H$_² BX§ dMZ§ 

_m_² Ed bú`rH$amo{V ? Ahmo ! Hw$_mJ©_² Am{lVñ` __ H$sÑer B §̀ Šboenaånam & 

Jwê$nXoeoZ Bd AZoZ ~mbdMgm __ Mjwfr g_wÝ_r{bVo & AÚà^¥{V nmnnW§ Ë`Om{_’ 

B{V {d{MÝË` {_Ì§ Xþï>~w{Õ_² AdXV² – ‘gIo ! `{X _m§ {_ÌñWmZo n[aJU`{g, V{h© 

gmYwOZJ{h©V_² B_§ nÝWmZ§ Ë`OVw ^dmZ² &’ 

       Xþï>~w{Õ… Vw Vñ` gX²dMZm{Z {VañH¥$Ë` J«m_m{^_wI§ àmMbV² & àÀN>Þ^m½`… Vw 

g_wnOmV{ddoH$… ñdJ¥h§ à{V{Zd¥Îm… &’’  

 àíZm… 

 I. EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 1 

‘AÚà^¥{V nmnnW§ Ë`Om{_ &’ B{V H$… A{MÝV`V² ? 
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 II. nyU©dmŠ`oZ CÎmaV & 

  nyU© dmŠ` _| CÎma Xr{OE & 
  Answer in a complete sentence. 1 

gX²dMZm{Z {VañH¥$Ë` Xþï~w{Õ… Hw$Ì AJÀN>V² ? 

 III. àXÎm{dH$ënoä`… C{MV_² CÎma§ {MËdm {bIV & 
  {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & 

  Choose  and  write  the correct answer from the given 

options. 1 2=2 

(H$) ‘Mjwfr’ B{V H$V©¥nXñ` {H«$`mnX§ {H$_² ApñV ?  

(i) bú`rH$amo{V 

(ii)  A{MÝV`V²  

(iii) g_wÝ_r{bVo 
(iv)  AdXV² & 

(I) AZwÀN>oXo ‘nÝWmZ_²’ B{V {deoî`nXñ` {deofUnX_² ApñV    

(i) J«m_m{^_wI_²  

(ii)  nmnnW_²  
(iii) ñdJ¥h_²  

(iv)  gmYwOZJ{h©V_² & 

12. AYmo{b{IV_² nÚ§ n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZ CÎmaV : 

 {ZåZ{b{IV nÚ H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE : 
 Read the following shloka and answer the given questions in Sanskrit : 

íbmoH$… 
 ‘‘` BÀN>Ë`mË_Z… lo`… à^yVm{Z gwIm{Z M & 
 Z Hw$`m©X{hV§ H$_© g naoä`… H$Xm{n M &&’’  

 àíZm… 

 I. EH$nXoZ CÎmaV & 
  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 1 

_Zwî`… H$ñ` lo`… BÀN>{V ?  
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 II. nyU©dmŠ`oZ CÎmaV & 

  nyU© dmŠ` _| CÎma Xr{OE & 

  Answer in a complete sentence. 1 

_Zwî`… qH$ {H$_² BÀN>{V ?  

 

 III. àXÎm{dH$ënoä`… C{MV_² CÎma§ {MËdm {bIV & 

  {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & 

Choose  and  write  the correct answer from the given 

options.  1 2=2 

(H$) ‘Hw$`m©V²’ B{V {H«$`mnXñ` H$V©¥nX_² ApñV & 

(i) H$_© 

(ii)  `… 

(iii) g… 

(iv)  AmË_Z… & 

(I) ‘H$ë`mU_²’ B{V ^mdo AÌ qH$ nX§ à`wº$_² ?  

(i) lo`… 

(ii)  à^yVm{Z 

(iii) gwIm{Z 

(iv)  A{hV_² & 
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13. AYmo{b{IV§ ZmQ>çm§e§ n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZ CÎmaV : 

 {ZåZ{b{IV ZmQ²>`m§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| Xr{OE : 

 Read the following drama passage and answer the given questions in 

Sanskrit :  

ZmQ²>`m§e… 

‘‘H$mo{H$b…  – ao _`ya ! Ab_² A{V{dH$ËWZoZ & _Yw_mgo Am_«d¥jo pñWËdm `Xm 

Ah§ nÄM_ñdaoU Jm`m{_ VXm lmoVma… H$W`pÝV –  

         H$mH$… H¥$îU… {nH$… H¥$îU…, H$mo ^oX… {nH$-H$mH$`mo… & 

         dgÝVg_`o àmáo, H$mH$… H$mH$… {nH$… {nH$… && 

H$mH$…  – ao na^¥V ! Ah§ `{X Vd gÝVqV Z nmb`m{_ V{h© Hw$Ì ñ ẁ… {nH$m… ? 

AV… Ah_² Ed H$éUmna… n{jg_«mQ²> H$mH$… ! 

amOh§g…  – emÝV§ emÝV_² ! Ah_od Zrajra{ddoH$s n{jUm§ amOm ! 

~H$…  – {YH²$ `wî_mZ² & Ah_od gd©{eamo_{U… !’’ 

 àíZm… 

 I. EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word. 1 

H$mo{H$b… _Yw_mgo Hw$Ì pñWËdm Jm`{V ? 

 II. nyU©dmŠ`oZ CÎmaV & 

  nyU© dmŠ` _| CÎma Xr{OE & 
  Answer in a complete sentence. 1 

amOh§g… qH$ H$W`{V ? 
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 III. àXÎm{dH$ënoä`… C{MV_² CÎma§ {MËdm {bIV : 

  {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE : 
  Choose  and  write  the correct answer from the given  

options : 1 2=2 

(H$) ‘H$W`pÝV’ B{V {H«$`mnXñ` H$V©¥nX§ {H$_² ApñV ?  

(i) H$mo{H$b… 

(ii)  H$mH$… 

(iii) lmoVma… 

(iv)  ~H$… & 

(I) ‘Ah_² Ed H$éUmna… n{jg_«mQ²>’ B{V dmŠ`o ‘Ah§’ nX§ H$ñ_¡ à`wº$_² ?   

(i) H$mo{H$bm` 

(ii)  amOh§gm` 

(iii) ~H$m` 

(iv)  H$mH$m` & 

14. AYmo{b{IVH$WZmZm§ g_w{MV§ ^md§  {dH$ënoä`… {MËdm {bIV : 

 {ZåZ{b{IV H$WZm| H$m g_w{MV ^md {dH$ënm| _| go MwZH$a {b{IE : 

 Choose and write the correct gist of the following sentences from the 

given options : 1 2=2 

(H$) ‘{dídñ` AmË_m@h_² &’ 

(i) H$mb… n[adV©Zerb… & 

(ii) H$mb… Ed OJV… {Z_m©Vm & 

(iii) H$mb… Ed OJV… AmË_m & 
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(I) ‘Zrajra{ddoHo$ Vw h§gmo h§g… ~H$mo ~H$… &’ 

(i) h§gñ` ~H$ñ` M _Ü`o ^oX… ZmpñV & 

(ii) Xþ½Yñ` Obñ` M _Ü`o ^oX§ H$Vwª h§g… ~H$… M g_Wm£ & 

(iii) ‘Xþ½Yñ` Obñ` M _Ü`o qH$ Xþ½Y§ {H$ÄM Ob_²’ B{V gÝX^} h§g-~H$`mo… ^oX… 
Ñí`Vo & 

15. _ÄOyfmV… g_w{MV§ nX§ {MËdm AYmo{b{IVíbmoH$Û`ñ` AÝd`§ nya`V : 

 _ÄOyfm _| go g_w{MV nX MwZH$a {ZåZ{b{IV XmoZm| íbmoH$m| Ho$ AÝd` H$mo nyU© H$s{OE : 

 Complete the prose order of the following two shlokas by choosing the 

appropriate words given in the box : 14=4  

I. ‘‘{dÛm§g… Ed bmoHo$@pñ_Z² Mjwî_ÝV… àH$s{V©Vm… & 

 AÝ`ofm§ dXZo `o Vw Vo MjwZm©_Zr _Vo &&’’ 

 AÝd`… 

 (i) ______________ bmoHo$ {dÛm§g… Ed Mjwî_ÝV… àH$s{V©Vm… & 

 (ii) ____________ dXZo `o (Mjwfr) Vo Vw MjwZm©_Zr _Vo &  

II. ‘‘àm{W©V§ Vo _`m MH«§$ XodXmZdny{OV_² & 

 AOo`… ñ`m{_{V {d^mo ! gË`_oVX² ~«dr{_ Vo &&’’ 

 AÝd`… 

 {d^mo ! AOo`… ñ`m_² B{V _`m XodXmZd-ny{OV_²  

 MH«$_² Vo (iii) ____________ & EVV² Vo gË`_² (iv) ____________ & 

_ÄOyfm 

 àm{W©V_²,  Apñ_Z²,  ~«dr{_,  AÝ`ofm_² & 
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16. aoIm{‘>VnXm{Z AmY¥Ë` àíZ{Z_m©U§ Hw$éV & 

 aoIm§{H$V nXm| Ho$ AmYma na àíZ {Z_m©U H$s{OE & 

 Frame the questions on the basis of the underlined words. 1 5=5 

(i) ‘H$íMZ {dÛmZ² gL²>H$ëndmMZ§ H$amo{V &’ 

(ii) ‘bmo{hVOZnXo AZoH$~m¡Õ{dhmam… gpÝV &’ 

(iii) ‘ghòm§ew… Z ^mgVo &’ 

(iv) ‘gd}fm_² Ed _hÎd§ {dÚVo &’ 

(v) ‘{d{MÌ… ñdßZ… _`m Ñï>… &’ 

17. AYmo{b{IVdmŠ`m{Z KQ>ZmH«$_mZwgmaoU {bIV : 

 {ZåZ{b{IV dmŠ`m| H$mo KQ>ZmH«$_ Ho$ AZwgma {b{IE : 

 Write the following sentences in their sequential order : 
2

1
 8=4  

(i) {_ÌÛ`§ Hw$nWoZ YZ§ àmßVw§ {dXoe§ JÀN>{V & 

(ii) gw~w{Õ… àÀN>Þ^m½`… H¥${fH$m`ª H¥$Ëdm l_nyd©H§$ YZ_² AO©`{V & 

(iii) X¡ddemV² gn©… Xþï>~wqÕ Xe{V & 

(iv) BX§ lwËdm Xþï>~w{Õ… erK«_² Ed VV² joÌ§ JÀN>{V & 

(v) g… AídËW_yb§ I{ZËdm gwdU©H$be§ àmßZmo{V & 

(vi) BX§ kmËdm Xþï>~w{Õ… Mm¡`m©Wª Vñ` J¥h_² AJÀN>V² & 

(vii) _mJ} H$ñ`m{n ~mbH$ñ` àíZoZ g_wnOmV{ddoH$… àÀN>Þ^m½`… J¥h§ à{V JÀN>{V & 

(viii) VÌ g… àÀN>Þ^m½`ñ` ñdßZñ` {df`o dmVmª ûm¥Umo{V `V² Vñ` joÌo EH$…  

gwdU©-ny[aV-H$be… {dÚVo & 
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18. aoIm{‘>VnXmZm§ àg“mZwgma_² AWª {MËdm {bIV & 

 aoIm§{H$>V nXm| Ho$ àg§JmZwgma AW© MwZH$a {b{IE & 

 Choose and write the contextual meanings of the underlined words. 1 3=3  

(H$) ‘H$mbñ` H$bZñ` AmYma… gy`©… _Ý`Vo &’ 

(i) H$mobmhbñ` 

(ii) JUZm`m… 

(iii) OJV… & 

(I) ‘gmYw n¥ï>_² ! AÌ AZoHo$ à_wImoËgdm… &’ 

(i) g_w{MV_²  

(ii) loð>… 

(iii) gÁOZ… & 

(J) ‘dËg ! Z OmZm{V ^dmZ² Ðm¡Uo… Mnbm§ àH¥${V_² &’ 

(i) eãX_yb_²  

(ii) ñd^md_²  

(iii) {d{eï>aMZm_² & 


